
 

 

 

             

 

Using pin labels above my ohm readings are: 

Pin 1 to pin 3:  zero ohms 

Pin 1 to pin 2: zero ohms 

Pin 2 to Pin 3: zero ohms 

Pin 1 to High Voltage: 5780 ohms    (5.78 Kohms) 

Pin 2 to High Voltage: 5780 ohms  (5.78 Kohms) 

Pin 3 to High Voltage: 5790 ohms  (5.79 Kohms) 

Pins 1, 2, and 3 to bracket (ground): no continuity, infinite ohms 

Note: reversing the red/black multimeter leads produced the same values as above. 

Pin 1                    Pin 2                 PIN 3 

High Voltage (to distributor) 


